A

REBEEAR (L) FRAF

1R ee = MH-C MH-C2 Vert X 37E 24V PWM

BRSH BA

NEAETE 0...360 R b AL

WL ME(TEL) % of meas. range 0.3 B

ML EERFTENELZ@ 360°) % of meas. range  *0.5 ol #L 4R

B K HlF 0.1 B AR TR

o PR bit 12

BAATESEM ° 0.1 FRiES EN

PR AR KkHz (5) =P ER P68

RN AR KHz 1.66 FEAFEIT

BRI R G4 LR s (800) MM BTR

BIEE R R EER s 4600 EEZ;}E

BWHESRARERK ppm/K 25 géfzﬁr;iﬁmﬁﬁ

MTTFd/MTBF years 240/ 240 ERE BAE D FEx

e oy — (nud;,nnuz ;, U_\:L_‘,_?RE’J %.)A
EREESAECENE S #

T R BRIAFE (yp.) BOERR mA (19) £

T AR BRI FE(typ.) BEER mA 14

i &/ B R kOhm 10

AHERBERAR nF 1

Bk T2 18 & 50 R kHz 0.1..1

B R AR M AR R A yes

BREEMD Wires (3x)

BIRLSEEBE mm2 0.56 (AWG20)

BAEEAZMD Cable 3pole

BRLGEBE mm2 0.56 (AWG20)

TR yes

BEEZEIR BO Wires (6x)

BRKGERE TR mm2 0.56 (AWG20)

HREETREMD Cable 6pole

BIRKMEEBE TR mm2 0.25 (AWG24)

WSS

B ATE 360 (continuous)

Fhir &R IF68

B/NEwm movements no limitation

THEMEFRE °C -40 ... +85

IEC 68-2-6 #x3 (Amax =0.75mm, f=5... 2000 Hz) ¢ 50

IEC 68-2-27 M 200

HETHE

EN 55022 class B, Emission radiated (30... 230 MHz) dB(uV/m) max. 30

EN 55022 class B, Emission radiated (230...1000MHz) dB(uV/m) max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kV +4/ £8

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) V/m 30

EN 61000-4-4, Burst (on all lines) kV +1

EN 61000-4-5, Surge (lines to ground) KV +1

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 10

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20 A company of the Siedle-Group

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) KV 1

CONIELEC

H35:021-5419 1392  48T.:173 1638 6953  Ryh:www.tifu-auto.com  HF:info@imcortech.cn



R}

RRH

~

ERAR (B BRAF

A

=
S
|c

A

IE @ 4B CWHR 1
@B E CCWH 2
TUR, E@#E CWA 3
TR, IE[#E CCWH %4
TR, RXESHLATILS

WHES
PWM Standard 4
fiteg Bk
24VDC Standard 1
VertX 3 7 Ei 4 7 3 6 1 4 1
BREA
36IR B SE A360°
xxA[#%£03 to 35; Declaration in 10° steps
QORI HRBREA
7 MH-C
HLAR 45 4 AR A<
37E1 Wik @R R E size 13 ; W H TN Mtype 1
37E2 ik A IR L $Esize 13 ; Wit 1T Mtype 2
37E4 ¥R R R $Esize 13 ; BEMEHITHLA type 4
37E9 Wik BB R BB RTIG

5

Vert-X 37E - 24V /| PWM
PRk

B T /5h 1E)

5 ¥R A 44X 3pole

7 Ak 44 5pole / 6pole
9 Wik R EBAEK &S

BREE/RR

4 ¥rAE B B4 3pole

6 Ak B B4 6pole

9 T R TR B S IR LK

KHEKE

01 A% 10cm
03 "% 30cm
05 #7# 50cm
99 Wik BHKE

BHKE

02 ¥ 1.0m

06 A3 3.0m

10 A 5.0m

99 Tk BHRKE

0 5

T HI R RATHLG

T BT

T HI B4/ L4

TRIE AR KA R

FFXRINEETTL (max. 2)

SRS B &

BHRESHEA TE30°to 360° (BAI)
BREATRE (KHY)
BEIMNLRITIRE FHNEH)

KE¥ 5 ECW/CCW WIRE / AI4miE (BN & SRR 4F)
RE|RARE AHRE (FNKLE R HKAM)

H35:021-5419 1392 4FT1:173 1638 6953

ik (REEFER)

MH C MH C2

SN

~

CONIELEC

A company of the Siedle-Group

Wk - www.tifu-auto.com  Hf£f:info@imcortech.cn



AW |

RERBIEHEA (L) FRAF

B s imiallale

~

';" -
s
| )
Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B (incl.)
Finbaumass [ tdz 1x BEXF
| ‘ . R Lo 2x T FE ST 2 IR 4 M5x12
SW13 working position 16 Xm §
M5 | | THUEZ) M BERTHIE
- 21; 3 B K R4
l — R 15 g SEREEFER
of | CHE |
= N
o |9 :— ool - i
- o U= T =
S| o % | s =
B & AT )
o ey
G HURIE
j 4 H
||| #5Tiefe 5 12
$ 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B #(incl.)
LUACEUASS] -~ 2x B R AL AR LM 512
S 13 working posilion |4 g
! THEALB(Z) M BTG
21,3 B K f ¥ 48
- ] . - -— SERRER
x s
k| 16
0 -1 “CHH - -
<10 [
& o] [oF] e :
- | el re 1 o«
- 3 =0 s =
S ™ _STHA \
= EHP Y
] o T L
=
Y #\ L__
@5 Tiefe b 12
826 24
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Myk:www.tifu-auto.com  H4:info@imcortech.cn



|

RERBERAR (LB FRAF

-

f- x_m

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B4 (incl.)
Finbaumass /tdz IxBIEX ¥
. : — = - 2x T B R L S IR 4 M5x12
W1 working position 16
M5 ! |’ TEMNEZ) M BEERTHIE
- 4 BoA R4S
_ - . SEREER
| —H oo
o -CHH 7
i 8] (]
o7 | 1 =4 =y
_
JolE e
M CHE 1
= BRI 1
. | |
= 4]
\ gh Tiefe 5 17 168
g 26 _ I8
Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx xxx 6xx
B (incl.)
Finbaumass [ +dz 1x BEXF
| : —— - = 2 5 FE R L 2 48 44 M5x12
.;S]W 10_‘_ working position [ 1 g xR R LM
bt I 4 THEMEZ) M BERTHIE
. sl BA AV
o I - ovo SERRER
N A | WEilil e
=) ©- o] HHH o
, \ el | 2 s
| @ T 1 Ul
&) ~ “l <HE v S
- T
‘w’/ =1 [ HH 1
i | ngi
| Yo T
#5 Tiefe 5 g2 10,2
826 24
A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



AW |

RREEEAR (L) FRAF

Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
u—) OZ} |7 1 ‘l II‘H “ ‘l J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— ’IJEJ = <=}
= |3
T T o HE =
o] 5
L[_) Dg. r 1 ‘\ H‘II ‘F k
" | | o0 ”__u (\I“Lo
ST N 1] ";"_[_Q—_ Qs
= 1 CHE Ol 1 Yy
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

H35:021-5419 1392 4FT1:173 1638 6953

W%k - www. tifu-auto.com  Hif4f:info@imcortech.cn

[=]

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx

B2 (incl.)
1Ix BEXRF
2x W RE R L B R4 M5x12

TALEZ) M #ERITHY
RAR RV
SERERFER

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B4 (incl.)

1x BEXRF

2x R EL S IR 4 M5x12

THEZ) M R ATH

BRARAFHE
SERERFER

CONIELEC

A company of the Siedle-Group



RRH

BHEA (L) BRAT

Vert-X 37E4
REEE
TEME(Z)
%J MH-C 3.85mm
—+I MH-C redundant 4.35mm
™~
A BAMRAT IR B K A1 4830
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
REREER
THEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm

N '
Oy ; ' REMEMATIIGR K SV
e ; dx +0.25mm
| dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RRH

FERAR (B FRAF

-

.i.
| )
Vert-X 37E2
RZEREER
TENMEZ)
MH-C 6.45mm
MH-C redundant 5.95mm
RTINS K iR
[: dx +0.25mm
r dy +0.25mm
dz +0.5mm
Vert X 37E
50
Q
N oL
Te)
= |
Y |
i 5 ' _
i
8338

35
1,5

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



